Adding to 20 - crossword [1.1]

Fill in the blanks in the crossword puzzle to get

true equality.

+ 3 =9 6 =115 4 =
+ + + + +
7 + = 5+ =13 3 9
= + = + = + = + =
41 111+ = |20
8 + =117 10 =116 5 =
+ + + +
+ 11 = 4 + |=|7] |1
= + + = = + =
12 2 +9 2+ 18
+ = = + =
12 + =118 = 15| =
= + = + +
11 + 7= 5 20 2 4
+ + + = = + =
2+ = 4 = 14| |12 =
+ 6| = 1 =20 7/ =17
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Adding to 20 - crossword [1.1]

Fill in the blanks in the crossword puzzle to get
true equality.

6|+(3|=19 6 91 =115 4 71=111
+ + + + +
7 5|/+(|2 =7 5/+]8 =13 3 9
= + = + = + = + =
4 11|+ | 3 14 8 L 3|=120
8 +/9 =17 |10 61 =116 5 6| =111
+ + + +
41+|11| = |15 4 6|+|1|=|7 1 7
= + + = = + =
12 2 3|+|9 12 2| +|12| =14, |18
+ = = + =
12|+ | 6| =18] |13 5|=118 1 15| = |16
= + = + +
11 8|+ |7|=115 5 20| |11 2 4
+ + + = = + =
2| +(10]| = |12 4 10/ = 14| 12 8| =120
13|+ 6| =19] |19 1| =120 7 10| = |17
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